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10.

E PR (80 A)

1 ' !
. (6 »)Let Ax; = —and ¢; = i, evaluate the definite integral / 2% dx as a limit. (Use the
n n 0

right endpoint)

. (10 #) Evaluate (a) /3 V9 — 22 dx. (1H]) (b) /2(2x2 + 3z + 1) du.
0 0

. (6 »)Letg(x) = / t3v/1 + 12 dt, find ¢'(z).
—2
(2% 4+ 1)3
6 ~) Differentiate f(r) = In —————.
(6 2) f(x) ——
. (6 ») Evaluate /290\/90 —1dz.
(10 ») Evaluate the definite integral
5
(a) / (sin® z cos = + sinz cos® ) dx (b) / (2 + 1) do
T -3
23z -2 2
(6 ~) Use logarithmic differentiation to find @, where y = i’ T > .
dx (x +1)2 3
(10 4 ) Consider the function F'(x), where F'(z) = / = dx.
xlnx
. d 1
(a) Find F'(x). (b) Use (a) to show that — F'(x) = .
dz zlnz

2
(10 %) Evaluate the integrals (a) / 2$ : i (b) / %+ 5x + 5
x

2 +3

(10 #) Let f(x) =5 — 223, (a) Find f~1(2) (b) Find (f~1)(7).



IL 3 "L B8, (25 4°)

1. Find the area of the region bounded by the graph of y = |2$ + 1‘ the x-axis, and the vertical
lines

r=0andx =2 Area= 6_
2 Lt f(z) = / VB Ldt find f/(2) = 3
0

3. If/llf(a:)dx:3,and/01f(:1:)dx:5,then/012f(x)dx: —4

o

5. Let f(x) = 2%, 2 > 0. Find (f1)'(1) =

ISE

1
tanz dxr = §1n2

‘MI»—\
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1 33 *
LS 43— 3 4L 3
40
2 | (a)w%, (b 3 4.3 — |42 3*
3 | ¢ (x) =231+ 22 —22"V1 4 ot 4.4 — 5|48
2 6z 43
4 ! — — 1 — b4E 57
J'w) x+x2+1 2044+ 1 ; PIALS
4 4
5 g(55—1)%+§(:c—1)%+c 45 — )3 5
D76
6 | (@0, () 45— % 42 10.73
2/3x -2 (2 2
7 @:i -+ 3 — 5.1_?%77
dx (x+1)2 \z 2Bx—2) z+1
8 | (a) F(x)=In|lnz|+ C, (b) % 5.1 — 48"
1 2
9 | (a) §1n(a:2+1)+0, (b) %+x+ln|2x+3\ +C 5.2 — G]3E
1 3 5 — ) —1\/ 1
10| (a) (@) = /== O )T =5 53— ¥
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